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There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.
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Answer any 5 questions from 1 to 6. Each carries 1 score. Bx1=5)

A sociological perspective teaches you how to draw

(Social map, Geographical map, Common sense map, Physical map)
Aggressive chauvanism based on religious identity is called

Orthodox members of the Hindu Community in Bengal formed an organization called
and petitioned the British arguing that reformers had no right to interpret
sacred texts.

(Ranvir Sena, Dharma Sabha, Brahma Samaj, SNDP)
McCarthy and proposed resource mobilisation theory.

Name the Dutch sociologist who coined the term “Foot Loose Labour”.
(a) Auguste Comte

(b) Verrier Elwin

(c) Herbert Spencer

(d) Jan Breman

The first attempt at prihting books using modern technologies began in Europe. This
technique was developed by

Answer any 4 questions from 7 to 11 in two or three sentences each. Each carries
2 scores. 4x2=8)

Mention any two reasons for the decline in the death rate after 1921 in the Indian
population. |

SME-38 2



1 aym@d 6 A1e0WB88 calodyElol agom®ilelle 5 agPomla’ QTMOOAYI®)D .
1 aapod allao. Bx1=5)

L0V afl@seme Mlemes @9aj AIOEIMIEM allaflemma.

(VO?D)0Y @)aliSo, @)ANVDOTV(® @) IS0, MVORIMIGENIOW &) lSo, BVDI@> B)alSo)

2RO  UIOIOOM  @RSIAVOOMBOSNWIBE  ARY(EHACHMNIBTVIHAOW

L) I O af)am alO@)M).

MIoNOFIONL! 65aNMBAI TLVMBIVBTINOL!I WILNONAIGIBHOIW BRI
af)am  avoreis®  Olalladlemdwye  allwey  wmoes?d PP AIlendd
UBaHBHAODOINBES @RAUBONAOLIIN ENGlatdB06R0S IO |S)BHD]o Halg).

(@emdafld cavm, wdeaave, ENiad CLAIR., af)MV.af)0d.all.afl.)

#
afleal aveelaoem ML MEIMIF Al AL, ag)avlQIE6M.

“aene  ARIO@OTm  6@OYIendl” A  ARUXo  @RAUGGIaflal  ALa]
MVUBOUINV(OEHDOHF CalBalOW)dh.

(@) @RUIY CHO®

b))  eutlad agy@danad

(©) eandenudg aayadavd

(d) =oad eeruaad

@RYW)B TLoGE@E afley  9alcoufla) aJTRSHENBUD  @R2ISISH0MBR
BRBYUIDEBR MSIN® @G0, gD IcsH:@ls alldy allerilaflaj@ogoem

7 2)@@8 11 19088 ca1dsimdlad agom®slens 4 adgpamim’ 2-3 Ao yEnglad
DAHOODY)D) . 2 ¢mpod aflo. 4x2=8)

1921 M} GUdatio HAMYB BMAToaYRI@E BEEM MNEGEIGE @100 QUIEOMENBIW ME
BI0EMETBUT al@ODBUNH6) B>,

SME-38 3 P.T.O.




8.  What is meant by self-reflexivity ?

9.  Arrange the following features appropriately in the table given below :

(region, mode of livelihood, language, ecological habitat)

Permanent Traits Acquired Traits

10. The radio can be used as an active medium of communication. Give two examples.

11. Types of social movements are given below. Arrange the movements in the table.

(Right to Information Campaign, Naxalite Movement)

Reformist Movement Revolutionary Movement

Answer any 4 questions from 12 to 16 in four or five sentences each. Each carries
3 scores. 4x3=12)

12.  “Colonial rule helped ig shaping Indian consciousness and nationalism.” Substantiate.
13. Briefly describe the role of political partiés and pressure groups in Indian democracy.
14. Mention any three.powers and responsibilities of panchayats.

15. Evaluate the role of mass media in independent India.

16. Explain the de-industrialisation process happened in India during the British period.
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18.
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23.

Answer any 4 questions from 17 to 21 in a paragraph each. Each carries 4 scores.
(4 x 4=16)

Mention any four laws passed against caste discrimination.
‘Secularism practiced in India is quite different from that of the west.” Explain.

Describe the different situations of urban impact in independent India as suggested by
M.S.A. Rao.

(a) Define Glocalisation )
(b) What do you mean by digital divide ? )

‘Strikes and Unions create changes in Industrial Society.” Explain with the help of

examples.

Answer any 1 question from 22 to 23. 5 scores. (1x5=5)

National development in some occasions adversely affect tribal development. Discuss.

Rearrange columns B and C so as to match column-A Bx1=5)
A B C
Sanskritisation Imitation of British by middle | Rational approach
class Indians
De-Sanskritisation | Scientific attitude Decline in the influence of

religion (west)

Secularisation Non Sanskritic castes dominant | Imitation of upper caste by
area lower caste

Westernisation Equal importance to all | Imitation of lower caste by
religions (India) upper caste

Modernisation Adopting dowry practices Colonial impact
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Answer any 3 questions from 24 to 27 in 1% pages each. Each carries 6 scores.

3 x6=18)
24. The table given below shows the age composition of the population of India.
Age Composition of the Population of India 1961-2026
Age Groups
Year Total
0-14 Years 15-59 Years 60 + Years
1961 41 53 6 100 |
1971 42 53 5 100
1981 40 54 6 100
1991 38 55 7 100
2001 34 59 7 100
2011 29 63 8 100
2026 24 ‘ 64 12 100
(a) Describe the trend shown in the diagram from 1961 to 2026. i 4)
(b) Define demographic dividend. . » 2)

25. Explain any three key principles that help to explain social stratification.

26. Examine the impact of globalisation on political changes.

77, Write short notes on the three theories of social movements.
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Answer any 2 questions from 28 to 30 in two pages each. Each carries 8 scores.

(2 x8=16)
28. (a) Define social movement. 2)
(b)  Analyse Chipko Movement as an ecological movement. )

29. ‘Globalisation and liberalisation in India had drastic impact on Indian Industry.’

Critically evaluate the changes.

30. ‘Weekly markets are best examples for social institutions.’ Justify it on the basis of
‘Dhorai Village” Market.
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